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Briiche multiplizieren Name:
L 0se jede Aufgabe. Antworten
1) 11.13_ 2) 1i.i_
3 4 3 3 t
2
3
9 3.9 93 1 .
4 2 4 5
5.
6.
7.
5 5 11 _ 6 2 1_
2 3 3 5 8
0.
10.
N o1 2 8 1 10
13'32— 2 4 = 11.
12.
911, 10 15 1
3 2 4 B
1) 1 1 12) 4 _2
33°33° 3535
1-10 | 9283 75|67 [58[50] 4233|2517 |
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Briiche multiplizieren Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
D) 11 13 _ 2) P 143
3 4 3 3~ L =
11 13 _ 143 4 1 4 , A
3 4 12 3 3 9 '
63
3. 8
3
3) 13 9 9 3 1_ 4 20
4 2 4 5 55
7 .,9_63 3. 1.3 > -
4 2 8 4 5 20 2
6 15
42
7. 8
5) 5 11 6) 2. 1_ B
2 3 3 5 8 g
5,11_55 2,1_2 1
2 3 6 3 5 15 9. 6
75
10 /16
7) 1 2 8 1 10 100
3.1 _& 1,10 _10 A
2 4 8 2 4 8
9) 1.1 10) 15 .1
3 2 4 ~ 4
1,11 15,5 _75
3 2 6 4 4 16
1) 1 .1 12) 4 .2
33°33° 35°35°
10 10 _ 100 19 17 323
3 3 9 5 5 25
1-10 [ 9283|7567 |58]|50] 42]33]25] 17|
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